0011000000000000000
0ooooOoooo(moooo)yoooo

0o T-11

g0 z0obbbbbbbDO
gooobbobooooobbobbbbbuoboo MKSAOODoOoOoOoobD Ox,y,zO O
Ubooodbobdbdidde,, e, e, 0000

gooooobboboogod

rot(rotV) = grad(divV) — §VOOOOVOOOOODOODOODADDDODOOD

cos( + ¢) cos § = 5 (cos(20 + ¢) + cos @)

1. 0000000 eUUbDOOwpbbOb0obbOon Maxwell DODOODO

divE = 0,
OFE
rotB = poég 50
0B
tBE = ——
o TR
divB = 0,

ObobobobooobooborepdBOODOOODOOOOODOODOO

(1) 0000000000000 0O00D000OODOOOOOOoOoOOo

(2) 000000000000 zO0D0OO0OOOOOODODODOODODOODOODOOO
000 (1) 000000000000 000000000 (0000o0oooog
O00000000)00000000000x0000000000 Eye, 000
god

2. 0000000DOUOLODD =eE00000DO0O0ODe0O0O0DOJOUDO0d =0F
O0000000000e(e0e0D00D0O0O0OD0)000000000000000 pe
good
(1) 000000000 00000000000 MaxwelOOOOOOOOODO
(2) 00000000000 0O0OOO0OOO0OO0OOOOOO0OO

3. 000 (2)0000000000000000000D0000D0D000000O0Od

gbobodbuogobodbboobbtbz00bboobooboboobbbooon
OD00o0cs000000o1Iooo=00oooooooooooooo

(1) 0000000000000000000000000.,=0000000000
000 Fe,0000
(2) 00D0O000O0O0O0O00O0O0O00

4. 000000000 z00000 2=xs0 z2=20000000000000000
000000z >x00000000000O0DO0O0O0OO0OODOO0O0O0OLODODOO



(1) DOD0D000D000S(S=L(ExB)0000000000000000
000000000000000000000000000000000000
000

(2) (1)0D0OC0OO0O0O0OO0O0OO00O0OO0OOODOO0OOO0O0ODOODOODODOODOOO



